
Montage Anleitung
Glaspavillon Orangerie 200

2023 V1.1.1











NO. QTY.

L01A 3

L01B 3

2
L01C 3

L01D 3

3

L03E 1

L03F 1

L03G 2

4
L03C 2

L03D 2

5 L04A 10

6
L05A 6

L05B 4

7

L10 1

L08C 2

L11E 1

L12E 2

L13 2

L14 1

L23 1

PART NO. QTY.

8

L11C 8

L11D 2

L02C 1

L12F 1

9 L12G 10

10
L11A 12

L11B 12

11
L12C 3

L12D 3



PART NO. QTY.

1 L06C 1

2 L06D 1

3 L06E 1

4 L07A 2

5
L07B 1

L07C 1

6
L07D 1

L07E 1

7 L08B 2

8
L08D 1

L08E 1

9
L08F 1

L08G 1

10 L02A 6

11 L02B 6

12
L02D 2

L02E 2

13
L02F 2

L02G 2

PART NO. QTY.

14
L03A 1

L03B 1

15 L04A 4

16

L05C 6

L05D 8

L05E 2

L05F 2

17 L22 11

18 L22B 4

19 L22C 2

20 L24 2

21 L25 2

22 L27 1



PART NO. QTY.

1
L16A 8
L16B 8

2 L17 2

3
L18A 2
L18B 1
L18C 1

4 L18D 4

5
L21C 8
L21D 8

6
L11A 4
L11F 2
L11G 2

7
L11C 8
L11H 4
L12G 4

8
L12A 7
L12B 7

9
L12H 2
L12I 2

10
L12J 2
L12K 2

11

L09A 2
L09B 1
L09C 1
L09D 1
L09E 1

12
L15A 4
L21A 8
L21B 8

13 L19A 8
14 L19B 4
15 L20 4
16 L30/J06 6

PART NEW QTY.

A26 9
A27 16
A28 8
H18 4
J09 3

J10R/L 3 /3

J12R/L 1 /1

J11 6
J94 6
J93 6
J92 6
D17 9
D24 1
D25 1
D27 1
D29 2
D03 2
D30 1
D31 1
A01 4
A03 4
D28 4
D07 22
S08

22
M8X60

S11
11

M6X20

PART NEW QTY.

S14
294

M6X10
M03

305
M6
S12

4
M8X30

M06
4

M8
Z22

396
Ø4X16

Z02
40

Ø4X16D
Z04

9
Ø4X8
Z12

8
Ø4X50

Z24
2

M5X25
S15

2
M4X10

H22
2

M4
H21 1
H23 2
H20 4

OLD

A
B
C
D
J01

J02R/L

J03R/L

J04
J05
J07
J08
W01
W02
W03
W04
W10
W11
W12
W13
W06
W08
W09
W05
S03

M8X60

S04

M6X20

OLD

S01
M6X10

M01
M6
S02

M8X30

M02
M8
Z01

Ø4X16
Z02

Ø4X16D
Z03

Ø4X8
Z04

Ø4X50

Z05
M5X25

S05
M4X10

M05
M4
W20
W21
W22







J09

J93

J92

J92

A26

A26

A26

D17

D17

D17

J12

J12

J10R
J94

J10L
J94



J92

J09

J10L
J94

J94

J93

J93
J12

J12

J92

A26

A26

A26

D17

D17

D17









J12L

J12R

L



A01

A27

A27

A27

A27



A27

A27

A27

A27

A27







J12L

J12R

L R

H22

H21

H23

H20



H21

S15

H23

H22

H23

H21

S15



A28

A28

A28

S12x2pcs

H20x2pcs

S12

H20

A28

A28

A28

A28





M06 S12



A28

A28

A28

A28

A28

S12x2pcs

H20x2pcs

S12

H20











D24
S11

S11S14

PART NO. QTY.

L08B 2
L07A 2
D24 1
D25 1
D27 1
S11

M6X20
S14

M6X10
M03
M6

M03



PART NO. QTY.

L08B 2
L08C 2
L08D 1
L08E 1
L08F 1
L08G 1
L10 1
J11 6
D29 2
D07 22
S08

22
M8X60

S14
4

M6X10
M03

4
M6



PART NO. QTY.

L01A 3
L01B 3
L02A 2
L05E 2
L05F 2
L07B 1
L07C 1
L07D 1
L07E 1
L24 2
D03 2
S14

M6X10
M03
M6



PART NO. QTY.

L13 2
D17 4

L07A 2
S14

M6X10
M03
M6



PART NO. QTY.

L02A 4
L03A 1
L05C 6
L22B 2
S14

22
M6X10

M03
22

M6



PART NO. QTY.

L03C 2
L03D 2
L03G 2
L04A 8
L05A 4
L05B 4
S14

32
M6X10

M03
32

M6



PART NO. QTY.

L01C 2
L01D 2
A26 6
D17 2
S14

30
M6X10

M03
20

M6



PART NO. QTY.

L02C 1
L03E 1
L03F 1
L04A 2
L05A 2
L23 1
S14

12
M6X10

M03
12

M6



.

PART NO. QTY.

L01C 1
L01D 1
A26 3
D17 3
S14

M6X10
M03
M6



PART NO. QTY.

L06D
L06E 1
L27 1
Z24

2
M5X25



.

PART NO. QTY.

L06C 1
D30 1
D31 1
Z22

4
Ø4X16

S14
M6X10

M03
M6





PART NO. QTY.

6
L03B 1
L02D 2
L02E 2
S14

M6X10
M03
M6



PART NO. QTY.

L25 2
L02F 2
L02G 2
S14

M6X10
M03
M6



PART NO. QTY.

L04A 2
L05D 4
L22 3
A03 2
S11

M6X20

S14
M6X10

M03
M6



PART NO. QTY.

L04A 2
L05D 4
L22 8

L22B 2
L22C 1
A03 2
S11

M6X20

S14
M6X10

M03
M6



PART NO. QTY.

L11A 4
L11B 4
L11C 8
L12C 2
L12D 2
L12E 2
L12G 8

Y1 2
Y2 8
Y3 2
Y4 2
Y8 2



PART NO. QTY.

L11A 2
L11B 2
L11D 2
L11E 1
L12C 1
L12D 1
L12F 1
L12G 2

Y1 1
Y2 2
Y4 1
Y5 1

Y13 1



PART NO. QTY.

L11A 10
L11C 8
L11H 4
L12A 7

Y6 8
Y12 4



PART NO. QTY.

Y7 6
Y9 2

Y14 1
Y15 1
Y16 1
Y17 1



PART NO. QTY.

L09A 2
L09B 1
L09C 1
L11B 4
L11F 2
L11G 2
L12B 5
L12G 2
L12H 1
L12I 1
L12J 1
L12K 1



PART NO. QTY.

Y7 2
Y9 2

Y14 1
Y15 1
Y16 1
Y17 1



PART NO. QTY.

L09D 1
L09E 1
L11B 2
L11G 1
L11F 1
L12B 2
L12G 2
L12H 1
L12I 1
L12J 1
L12K 1





PART NO. QTY.

L14 1

Window
Vent 4

Z02
8

Ø4X16D
S14

3
M6X10

M03
3

M6



PART NO. QTY.

Left Door 1

Right Door 1



PART NO. QTY.

L30 6
J09 3

J94 6
J93 6
J92 6
Z02

24
Ø4X16D

Z22
6

Ø4X16






